Phys:cs 1308-1-101 Exam #1, Fall, 2010

Instructions: Do real good Shew ymxr wark for all problems Partnal credit will be assigned for thmgs '
that make sense. g=9.80 m/ s, - .

Short :.qmtmm* (7.5 points -each drop the low one)

1. Thef n 512.123 + 22.11 has how many sxgmﬁcant figures?
a) 6 c)d4 d)3 e)2 - __

2. A furlongis a unit of length equal to 201 m, while a formight 18 equal to 14 days «:J»r-l..z.ljiil()6 s. 2000
furlongs/fortnight is what speed in m/s?
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3. A body is thrown straight up with some initial speed. Dc_scrlbe how its velocity and acceleration vary as

it undergoes its subsequent motion.
~
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4. A partlcle which moves on the x axis has a position gwen by x=9.0m-(3.0m/s)t + (1.8 m/s’ )t At
what time or times is its velocity zero?
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5. We have two vectors, E 3.0i + 2_0} and B=1.5{ =5.0] J. What is the MAGNITUDE of the
2 = - | -
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6. 1 throw a ball honzonta]ly off of a cliff at a speed of 20 m/s. After it has traveled 45 m honzontally,
how much has it dropped verﬂcally" -
. . 45
~ 7 .25s

l

of 140 m/s




